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1. Find the domain of the function f(x)=Inx.
Select the correct answer.

(B =00) . (C) (0,0

2. Find the range of the function /f(x)=Inx.

Select the correct answer.

(A% (o,0) - (B) 2,00 (). (%0
3 liml/—)iﬂ—1 =7
x—0 X
Select the correct answer.
A 0 (B .1 (C). 2
o ST . sin(3x)
4. 1f 1}51) i =1 _find the value of {13 .

Select the correct answer.

(A). 0 (B). 1 {(C)i=3
) 5
- in) sin 23A _9
x—0 X
Select the correct answer.
(A), <0 (B). 1 (€Y, 3

(D). (0, )
(D). (0. )
(D). 0.5
1
(D) -
e
@

(E). [0,)

(I1). none of above

(E).none of above

(E).none of above

6. Which of the following statement is the e-¢ definition of 1\123 f(x)=L2

Select the correct answer.

(A). Foreverye >0, thereisa 6>0 such that |f(x) —L[ <& whenever |x-d4/<6.

(B). For every & >0, thereisa ¢ >0 such that \f(x) = L‘ <o whenever 0<[x-d|<¢.

(C). For every & >0, thereisa >0 such that \f(x) = L\ < & whenever 0<[x—al<5.
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(D). For every £ >0, thereisa 6>0 such that |/(x)—L| <& whenever |x-d/<s.

(E). none of above

| o x=0
7. Let f(x)=qax+b ,0<x<1l [f f(x) is continuous on (-,),then a—b="?
2 J<

Select the correct answer.

(A). O (B). 1 () 2 (D). 3 (E). none of above
a4 3
—sin £e)
8. — %)
Select the correct answer.

(A). C()S(3X2 ). @) 3x° cos( X’ ) Q). 3sin’ x (D). Sin(3x3) (I£). none of above

A
—sin" x=72
9. =

Select the correct answer.

(A). COS(3X? )< (B). 3x° COS(J\‘B) (C) 3sin’ x (D). Sin(3x3) (E). none of above

10.1f f()+x° [/ ()]’ =10,and f(1)=2find f'(1).
Select the correct answer.

16 6 16 6 ke
S ~ —_ S ). none or above
R ) R ST

e j cos(3x) dx =7
Select the correct answer.

(A). sin(3x)+C (B). 3sin(3x)+6 (C). 151n(3x)+("

MY 3sin(x)+C (E). none of above
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9)
12, l; lx—l‘dx =?
Select the correct answer.

(A). 0 (B). 1 (Cy.-2 §ENES (E£). none of above

3. jzxx/x—l dx =

Select the correct answer.

(A). 15 (B). 16 (C). 3 (D). 5 <). none of above

1
14. Find the absolute maximum value of the function /(x)=+/x =—en U x=Y
D

Select the correct answer.

9 3 4 :
(A). Z (B). Z 78N 5 (D). 0 (I2). none ot‘z\bng

15. A region bounded-by the curves: VY =% V= 0 and x =1, find the volume of

the region rotates about x-axis.
Select the correct answer.

(E). none of above

T /4
= (D).
2

(A): & (B (C). =z
2 4

#¢Multiple Choice (16~20,5% each) (B2 F VA —E#E:EIR » R LHHFSH

EBREHF 0 %)

16. Consider the function f(x)= i sin x '
Select the correct statements.
(A). f(x)=0 forevery x e (—,0),
(B). f(x)is continuous on (—90,00).

() e i fesantinhle ans (=00 00)

e
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(B). {1_{1; J(X) does not exist.
(E). f S(x)dx  does not exist for —o<a<b<o.

17. Let f(x)and g(x)be two integrable and differentiable functions with
f(x)=g(x) on N .Which of the following statements are true?
(&), fler8tx)>0,xcR.
®). | f(0)|2] g(x)
©. F zg (e h

D). f'(x)=g'(x),xeN,

,XENR

@) | rdezf g (@) dx, where_a<b.

18. Which of the following statements are true?

(A). If f(x)is continuous on N, then it is differentiable on N .
(B). If f(x)is differentiable on R, then it is continuous on R .

(C). If f(x)is continuous on N, then ﬁ S (x)dx exists for —o<a<b<on,
(). 1 _E S (x)dx exists for every —0<a<b<w, then f(x)is continuous on R .

(E). If ff(x)dx exists for every —oo<a<b<oo, then f(x) is differentiable on 9N .

19. The position of a partical is given by s = /(1) =" —61> + 91 , where ! is measured

in seconds and $ in meters.

Which of the following statements are correct?

(A). The velocity after 2 s is -3 m/s.

(B). The partical is at rest after I s and 3 s.

(C). The total distance traveled by the partical during the first second is 10 m.
(D). The acceleration after 2 s is 0 m/s’.

(E). The average velocity during the first4 s is 1 m/s.
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20. Which of the following functions have an inverse function?
(&3 fx =S, xel-n, 7]
. A
XISy - oxe|l——, —
B). J(x) | =y
©). f(x)=cosx, xe[-x, 7.
X
X)=cCosx, Xe|l-—=+
@). (%) = 2].
(B). f(x)=x, el[-1, 1].
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